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42.4 77 ~ 42.7 50| 3.50] 2.50 1. 60
BB =4 (IAZKAT) 3.50] 3.60] 0.00] 1.50] 86.0 0.0 0.0 86.0| 3,172,077 7/ Ml |7 L — R
42.7 50 ~ 42.9 30 3.50] 3.60 4.50 (+) Im
BB =4 (IA2KAT) 3.50] 1.70] 0.00] 1.50| 415.0 0.0 0.0 415.0| 3,587. 0|7 *7 7+ M
42.9 30 ~ 43.2 50| 3.50] 0.00 2. 00
BB =4 (IA2KAT) 3.50] 1.70] 0.00] 1.50| 187.0 0.0 0.0 187.0| 3, 774.0|7 %7 7/~ Ml
43.2 50 ~ 43.4 37 3.50] _0.00 2. 00
b1 =e Sir(EP i) 3.50] 2.50[ 0.00] 1.50] 394.0 0.0 0.0 394.0| 4,168 0f7 77/ M
43.4 37 ~ 43.8 31| 3.50] 0.00 2. 50
PRI =4t (1A 2enT) 7.00]  3.50[ 4.00] 2.00] 906.0 0.0 0.0 906.0| 5,074, 0|7 *7 7 M| T L— 6
43.8 31 ~ 45.0 27 7.00] 3.50 2. 00 %823&“
17 SEEXE
A 5,074.0 0.0 0.0 0.0 5,074.0
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B (172)
PR 0008 8Bl RMH
5B & R
S <:£%:m,¢f'£%:/f<n> m (LB 1, FEE: :;n ) m e B =
woE | & E | omem | moF | E s | e | E | seiE] # m

HTIE IR BT 7.00[ 3.50] 2.00[ 200 126.0 0.0 0.0 126. 0 126. 0|7 27 7 v s
45.0 27 ~ 45.1 53] 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 354.0 0.0 0.0 354.0]  480.0[7 %77 1oz
45.1 53 ~ 45.5 7] 700 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 241.0 0.0 0.0 241.0 721. 0|7 27 7 v 1
45.5 7~ 45.7 48] 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 4.00[ 200 179.0 0.0 0.0 179.0]  900. 0|7 =7 7 hafz
45.7 48 ~ 45.9 27] 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 4.00[ 2.00 298.0 0.0 0.0 298.0| 1,198.0[7 %77 n ranss
45.9 27 ~ 46.2 25| 7.00] 3.50 2. 00

HTIE IR R 7.00[ 3.50] 2.00[ 200 2100 0.0 0.0 210.0| 1,408.0[7 %7 71 1oz
46.2 25 ~ 46.4 35| 7.00] 3.50 2. 00

TR IR BB 7.00 3.90f 2.00] 2.00 0.0 0.0 46.0 46.0| 1, 454. 0|7 =7 7 piss |FTIR AR
46.4 35 ~ 46.4  81] 7.00] 3.90 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 144.0 0.0 0.0 144.0| 1,598 0|7 =7 7 hafs
46.4 81 ~ 46.6 25| 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 60.0 0.0 0.0 60.0| 1,658.0[7 %77 n 1oz
46.6 25 ~ 46.6 85| 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 130.0 0.0 0.0 130.0| 1, 788.0]|7 =77 hans
46.6 85 ~ 46.8 15| 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 111.0 0.0 0.0 111.0| 1,899. 0|7 =77 hafs
46.8 15 ~ 46.9  26] 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 260.0 0.0 0.0 260.0| 2, 159.0[7 %7 71 1o
46.9 26 ~ 47.1  86] 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 158.0 0.0 0.0 158.0| 2,317.0|7 =77 hafs
47.1 86 ~ 47.3 44| 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 189.0 0.0 0.0 189. 0 2,506. 07 =7 7 ki
47.3 44 ~ 47.5 33| 7.00] 3.20 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 158.0 0.0 0.0 158.0| 2, 664. 0|7 =77 hafs
47.5 33 ~ 47.6_ 91] 7.00] 3.20 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 90.0 0.0 0.0 90.0| 2, 754.0[7 %7 71 1oz
47.6 91 ~ 47.7 81 7.00] 3.20 2. 00

HTIE IR BT 7.00[ 3.50] 1.00[ 200 124.0 0.0 0.0 124.0| 2,878.0|7 =77 hafs
47.7 81 ~ 47.9 5] 7.00] 3.20 2. 00

HTIE IR BT 7.00[ 3.50] 4.00[ 200 277.0 0.0 0.0 277.0| 3, 155. 07 =7 7 1aiss
47.9 5~ 48.1 82 7.00] 3.20 2. 00

HTIE IR BT 7.00[ 3.50] 1.00[ 200 90.0 0.0 0.0 90.0| 3,245.0(7 %7 71 1o
48.1 82 ~ 48.2 72| 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 1.00[ 200 124.0 0.0 0.0 124.0| 3,369. 0|7 =7 7 hafs
48.2 12 ~ 48.3  96] 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 2.00[ 200 299.0 0.0 0.0 299.0| 3,668.0[7 %77 1oz
48.3 96 ~ 48.6 95| 7.00] 3.50 2. 00

HTIE IR BT 7.00f 3.50] 1.00[ 200 90.0 0.0 0.0 90.0| 3,758.0(7 %77 n 1ot
48.6 95 ~ 48.7 85| 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 3.50] 1.00[ 200 130.0 0.0 0.0 130.0| 3,888. 0|7 =77 hans
48.7 85 ~ 48.9 15| 7.00] 3.50 2. 00

HTIE IR R 7.00[ 3.50] 4.00[ 2.00] 125.0 0.0 0.0 125.0] 4,013. 0|7 27 7 hans
48.9 15 ~ 49.0 40| 7.00] 3.50 2. 00

HTIE IR R 7.00[ 1.40] 1.00[ 200 90.0 0.0 0.0 90.0| 4,103.0[7 %77 n 1oz
49.0 40 ~ 49.1 30| 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 1.40] 1.00[ 200 122.0 0.0 0.0 122.0| 4, 225. 0|7 =27 7 hafs
49.1 30 ~ 49.2 52 7.00] 3.50 2. 00

HTIE IR BT 7.00[ 1.40] 4.00[ 2.00] 140.0 0.0 0.0 140. 0| 4, 365. 0|7 =7 7 hafs
49.2 52 ~ 49.3  92) 7.00f 3.50 2. 00
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HTE U BB T 7.00] 3.50] 1.00] 2.00] 90.0 0.0 0.0 90.0| 4, 455.0)7 =77 pgs

49.3 92 49. 82| 7.00] 3.50 2. 00
BRI BB T 7.00] 3.50] 1.00] 2.00] 480 0.0 0.0 48.0| 4,503.0[7 2771 ras

49.4 82 49. 30 7.00] 3.50 2. 00
BT IR BB 7.00|  2.50 1.00] 2.00 0.0 0.0 15.0 15.0| 4,518. 0|7 =277 v o [1HAKAE

49.5 30 49. 45| 7.00] 2.50 2. 00
BRI BB T 7.00] 3.50] 1.50] 2.00] 74.0 0.0 0.0 74.0| 4,592. 0|7 277 v nahz

49.5 45 49.6 19| 7.00] 3.50 2. 00
BRI BB T 7.00] 3.50] 1.50] 2.00| 161.0 0.0 0.0 161.0| 4,679.0|7 %771 1 a1

49.6 19 49. 80 7.00] 3.50 2. 00

17 HAERKE

&3 4,692.0 0.0 61.0 0.0 4,753.0
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HHs 0008 8EBE KM
B r
Ko <:£%::n,¢i£%:%\w) m (LB bY, FBE: :;n : m IVESR | BT =
goE | R oE | o | B oA | E B | L B2 d m
BB R (IR 22 BHT) 7.00] 3.50] 1.50] 2.00] 73.0 0.0 0.0 73.0 73.0|7 27 7 1 b
49.7 80 ~ 49.8 53] 7.00] 3.50 2. 00
BB LR (IR 22 B HT) 7.00|  2.50 1.50]  2.25 0.0 0.0] 148.0 148.0 221. 0|7 %7 7 v b |7 L - oam
49.8 53 ~ 49.9 101 7. 00 2. 50 2.25 ST KA
HR IR (I 2 E5HT) 7.00] 2.00] 1.50f 2.00[ 110.0 0.0 0.0 110.0]  33L.0[r =7 - him
49.9 101 ~ 50. 1 71 7.00] 200 2.00
BB R (IR 2 B HT) 7.00] 0.00] 1.00] 2.50 0.0 0.0 22.0 22.0 363. 0|7 =27 7 v hawis |2 BHG
50. 1 7~ 50.1 29| 7.00] 0.00 2. 50
BB R (IR 22 BHT) 7.00]  0.00 1.50]  2.00] 102.0 0.0 0.0 102.0 455. 07 =7 7 1 ki
50.1 29 ~ 50.2 31| 7.00] 0.00 2. 00
BB LR (IR 2 B HT) 7.00|  0.00 1.50] 2.00] 336.0 0.0 0.0 336. 0 791. 0|7 27 7 v kit
50.2 31 ~ 50.5 67 7.00] 0.00 2.00
BB RMT (IR 22 B HT) 7.00]  2.00 1.50] 2.00] 183.0 0.0 0.0 183.0 974. 07 =7 7 1z
50.5 67 ~ 50.7 50| 7.00] 0.00 2.00
BB R (IR 2 B HT) 7.00]  2.00 1.50] 2.00] 117.0 0.0 0.0 117.0] 1,091. 0|7 %7 7 ks
50.7 50 ~ 50.8  67] 7.00] 0.00 2. 00
BB RMT (IR 2 BHT) 7.00| 2.70 1.50]  2.00 0.0 0.0]  20.0 20.0] 1, 111. 0|7 =7 7 n raist | T A4
50.8 67 ~ 50.8 87| 7.00] 2.50 2. 00
BB LR (IR 2 BHT) 7.00] 2.00] 1.50] 2.00| 115.0 0.0 0.0 115.0] 1,226.0|7 %771 s |7 L—F &
50.8 87 ~ 51.0 o] 7.00] 2.00 2. 00 (+) 2m
BB LR (IR 22 B HT) 7.00|  2.50 1.50]  2.00] 155.0 0.0 0.0 155.0] 1,381. 0|7 %77 ki
51.0 0 ~ 51.1 55| 7.00] 2.50 2. 00
BB LR (IR 522 B HT) 7.00 2.50] 0.50] 2.00| 157.0 0.0 0.0 157.0] 1,538.0|7 %771 ks
51.1 55 ~ 51.3 12| 7.00] 2.50 2. 00
BB R (IR 22 BHT) 7.00 2.50] 0.50] 2.00] 195.0 0.0 0.0 195.0] 1,733.0|7 %771 ks
51.3 12 ~ 51.5 7| 7.00] 250 2. 00
BB LR (IR 2 BHT) 7.00|  2.50 1.00] 2.00] 493.0 0.0 0.0 493.0| 2, 226.0|7 277 kit
51.5 7~ 52.0 0] 7.00] 2.50 2. 00
BB RMT (IR 22 BHT) 7.00|  2.50 1.00] 2.00] 207.0 0.0 0.0 207.0| 2,433.0]7 277 ik
52. 0 0 ~ 52.2 7| 700 250 2.00
BB LR (IR 2 BT 7.00 2.50] 0.50] 2.00] 80.0 0.0 0.0 80.0| 2,513.0|7 277 rafisk
52. 2 7~ 52.2 87| 7.00] 2.50 2. 00
BB R (IR 22 BHT) 7.00 2.50] 0.50] 2.00] 120.0 0.0 0.0 120.0] 2,633.0)7 %77 ks
52.2 87 ~ 52. 4 7| 7.00] 250 2. 00
BB LR (IR 2 BHT) 7.00|  2.50 1.00] 2.00] 593.0 0.0 0.0 593.0| 3,226.0]|7 %771 Kk
52. 4 7~ 53.0 0] 7.00] 2.50 2. 00
BB R (IR F22 BHT) 7.00 2.50] 0.50] 2.00] 57.0 0.0 0.0 57.0| 3,283.0[7 =77 n ks
53.0 0 ~ 53.0 57| 7.00] 2.50 2.00
BB LR (IR 22 BHT) 7.00|  2.50 1.00] 2.00] 120.0 0.0 0.0 120.0| 3,403. 0|7 %77 ks
53.0 57 ~ 53.1 77| 7.00] 2.50 2. 00
BB LR (IR 2 BHT) 7.00|  2.50 1.50] 2.00] 110.0 0.0 0.0 110.0| 3,513.0)7 %77 ks
53.1 77 ~ 53.2 87 7.00] 2.50 2. 00
BB LR (IR 22 B HT) 7.00] 2.50] 0.50 1.75 0.0 0.0] 103.0 103.0] 3,616. 0|7 %77 ks |z ki seis
53.2 87 ~ 53.3 90| 7.00] 2.50 1.75
BB RMT (IR 2 BHT) 7.00|  2.50 1.00] 2.00] 198.0 0.0 0.0 198.0] 3,814. 0|7 %77 ks
53.3 90 ~ 53.5 88| 7.00] 2.50 2. 00
HHE LR o 7.00 2.50] 1.00] 2.00] 49.0 0.0 0.0 49.0| 3,863.0[7 =771 pai
53.5 88 ~ 53.6 37| 7.00] 2.50 2. 00
BB R T 7.00] 2.50] 1.00] 1.75 0.0 0.0 54.0 54.0| 3,917.0|7 =77 haitz |48 BITHE
53.6 37 ~ 53.6 91| 7.00] 2.50 2. 50
HHE L R o 7.00 2.50] 0.50] 2.00] 81.0 0.0 0.0 81.0| 3,998.0[7 =77 n ras
53.6 91 ~ 53.7 72| 7.00] 2.50 2.00
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HHs 0008 8EBE KM
B B T

Ko <:£%::n,¢i£%:/f~'n> m (1B 10, FEE: :;n : m IVESR | BT =
goE | R oE | o | B oA | E B | 1 it | A m
HHE LR o 7.00 2.50] 0.50] 2.00] 124.0 0.0 0. 124.0] 4,122 0|7 %7 7 1 1 a1
53.7 72 53.8 96| 7.00] 2.50 2. 00
HHE LR o 7.00 2.50] 1.00] 2.00] 104.0 0.0 0. 104.0| 4,226.0|7 %771 1ai3
53.8 96 54.0 0] 7.00] 2.50 2. 00
HHE LR o 7.00 2.50] 1.00] 2.00] 8.0 0.0 0. 88.0| 4,314.0[7 =77 n rans
54.0 0 54.0  88] 7.00] 2.50 2.00
HHE LR o 7.00 2.50] 0.50] 2.00] 90.0 0.0 0. 90.0| 4, 404. 0|7 =77 rasz
54.0 88 54.1 78] 7.00] 2.50 2. 00
HHE LR o 7.00 2.50] 1.00] 2.00] 140.0 0.0 0. 140. 0| 4,544, 0|7 %7 7 1 1413
54.1 78 54.3 18] 7.00]  2.50 2. 00
HHE LR o 7.00 2.50] 1.00] 2.00] 366.0 0.0 0. 366. 0| 4,910. 0|7 =77 Fiit | Liwmesses
54.3 18 54.6 84| 7.00] 2.50 2. 00
BB L i) T 7.00|  2.50 1.50 1.75 0.0 0.0] 170. 170. 5,080. 0|7 =7 7 1 haidt | (B EEARAS 25
54.6 84 54.8 54| 7.00] 2.50 1.75 HRELES G
HHE LR o 7.00 2.50] 1.00] 2.00] 146.0 0.0 0. 146. 0| 5, 226. 0| st i)
54.8 54 55. 0 0] 7.00] 2.50 2. 00
HHE LR o 7.00 2.50] 1.00] 2.00] 720.0 0.0 0. 720.0| 5, 946. O tanss (i)
55. 0 0 55.7 20| 7.00] 2.50 2. 00
HHE L R o 7.00 2.50] 0.50] 2.00] 100.0 0.0 0. 100. 0| 6, 046. 0| shAcrtsmes (i)
55.7 20 55.8 20| 7.00] 2.50 2. 00
HHE LR o 7.00 2.50] 1.00] 2.00] 130.0 0.0 0. 130. 0| 6, 176. 0|kt (i)
55.8 20 55.9 50| 7.00] 2.50 2. 00
HHE I R o 7.00 2.50] 1.00] 2.00] 197.0 0.0 0. 197.0| 6, 373. 0|kt (i)
55.9 50 56.0 147] 7.00]  2.50 2. 00
HHE LR o 7.00| 2.40f o0.50] 2.25 0.0 0.0 16. 16.0| 6, 389. Of#eArismis i) |18 SIHHE
56.0 147 56.0 163]  7.00]  2.40 2. 25
HHE L R o 7.00 2.50] 1.00] 2.00] 324.0 0.0 0. 324.0| 6, 713. O#ecteanss (i)
56.0 163 56.0 487] 7.00] 2.50 2. 00
BT YRR ) T 7.00] 2.50] 0.50] 2.25| 26.0 0.0]  95. 121.0| 6, 834. O|#eAttangs i) |FasE) 4
56.0 487 56.0 608] 7.00] 2.40 2. 25
HHE L R o 7.00| 2.50] 1.00] 2.00| 406.0 0.0 0. 406. 0] 7, 240. O g teanss (i)
56.0 608 56.0 1,014]  7.00]  2.50 2. 00
SBR[ T 7.00] 0.00] 0.50] 2.00 0.0 0.0] 71 71. 7, 311, O pekttanss (i) |8 H ST IAAG
56.0 1,014 56.0 1,085 7.00]  0.00 2.00
HHE LR o 7.00 0.00f 1.00] 2.00] 2650 0.0 0. 265.0| 7, 576. O#etans (i)
56.0 1,085 56.0 1,350]  7.00]  0.00 2. 00
BT UL ) T 7.00] 0.00] 0.50] 2.00 0.0 0.0 14. 14. 7,590. O |Hecrtsizs (o) | E IR
56.0 1,350 56.0 1,364]  7.00]  0.00 2. 00
HHE LR o 7.00 0.00] 1.00] 2.00] 634.0 0.0 0. 634. 0] 8, 224. O#ectanss (i)
56.0 1,364 56.0 1,998]  7.00]  0.00 2. 00
HHE I R o 7.00 0.00] 0.50] 2.50 0.0 0.0 78. 78.0] 8, 302. O skt (s [/1NeE R N7 A A
56.0 1,998 56.0 2,076]  7.00]  0.00 2. 50
HHE LR o 7.00 0.00] 1.00] 2.00] 264.0 0.0 0. 264.0| 8, 566. 0| ttans (i)
56.0 2,076 56.0 2,340]  7.00]  0.00 2. 00
BT LR ) T 7.00]  0.00 .20 6.48 12.0 0.0 13. 25.0] 8, 591. Ofskktamies i) |25 AR
56.0 2, 340 56.0 2,365  7.00]  0.00 5. 85
HHE LR o 7.00 0.00f 1.00] 2.00] 513.0 0.0 0. 513.0] 9, 104. O#ettanss i)
56.0 2, 365 56.0 2,878]  7.00]  0.00 2.00
BRI R T 7.00 0.00] 0.50] 2.50] 47.0 0.0 0. 47.0| 9, 151. O|#eokinigs i) |
56.0 2,878 56.0 2,925  7.00]  0.00 2. 50 17 B AKX
HHE LR o 7.00 2.50] 1.50] 2.00] 175.0 0.0 0. 175.0] 9, 326. 0|kt i)
56.0 2,925 56.0 3,100]  7.00]  2.50 2. 00
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LI (3.6)
HHs 0008 8EBE KM
% <¢£%:m,¢7j£%: ) (1B 10, FE: T) : m IVESR | BT =
o | oo | e R I 1 it m
BB R T 7.00|  2.50 1.50 299. 0 0.0 0. 299.0] 9, 625. 0| gt (i) |7 v— 1w
56.0 3, 100 57. 0] 7.00] 0.00
HHE LR o 7.00 2.50] 1.50 225.0 0.0 0. 225.0] 9, 850. O tanss (i)
57.2 0 57. 25| 7.00] 2.50
HHE LR o 7.00 2.50] 1.50 310.0 0.0 0. 310. 0] 10, 160. O |k tanss (i)
57.4 25 57. 35]  7.00] 2.50
Hrig R 7.00 2.90 0. 50 0.0 0.0 78. 78. 0| 10, 238. 0|7 27 7 1 1z |42 )46
57.7 35 57. 13 700 290
HHE LR o 7.00 2.50] 1.50 232.0 0.0 0. 232. 0] 10, 470. O g tanss (i)
57.8 13 58. 45| 7.00]  2.50
HHE LR o 7.00 0.00f 1.50 155. 0 0.0 0. 155. 0] 10, 625. 0| shActames i)
58.0 45 58. 0] 7.00] 0.00
HHE L R o 7.00| 3.50] 1.50 467.0 0.0 0. 467. 0| 11, 092. O|#ektisiss (i) |5 BEARAS 25
58. 2 0 58.6 67 7.00] 3.50 E B i A
HHE LR o 7.00| 3.50] 1.50 133.0 0.0 0. 133. 0] 11, 225. 0| shActsmes i)
58.6 67 58. 0] 7.00] 3.50
HHE LR o 7.00| 3.50] 0.50 100. 0 0.0 0. 100. 0] 11, 325. 0| skActtsmes (i)
58.8 0 58. 0] 7.00] 3.50
HHE L R o 7.00| 3.50] 0.50 201.0 0.0 0. 201. 0] 11, 526. O ek tanss (i)
58.9 0 59. 1| 700 3.50
SBR[ T 7.00] 3.65] 0.50 0.0 0.0]  30. 30. 0| 11, 556. O|geAttangs (i) | 22864
59. 1 1 59. 31 7.00]  3.90
HHE I R o 7.00| 3.50] 0.00 149. 0 0.0 0. 149. 0| 11, 705. O|shAcrtsmes (i)
59.1 31 59. 80| 7.00] 3.50 T —HiE Ohit)
HHE LR o 7.00 2.90] 0.75 142. 0 0.0 0. 142. 0| 11, 847. O|shAcrtsmes i)
59.2 80 59. 22| 7.00] 2.90
BB R T 7.00 2.90 0.75 0.0 0.0 237. 237. 0] 12, 084. Ogekttanss i) | [ 28 A
59.4 22 59.6 59| 7.00] 2.90
HHE LR o 7.00 2.90] 0.75 27.0 0.0 0. 27.0| 12, 111. O#eActeanss (i)
59.6 59 59.6 86| 7.00] 2.90
BRI R T 7.00 2.90] 0.75 0.0 0.0] 326. 326. 0| 12, 437. O| gkt (i) |71 —% & (12
59. 6 86 60. 0 7. 00 2. 90 R KHE1078m
HHE L R o 7.00 2.90] 0.75 0.0 0.0 500. 500. 0] 12,937. 0|7 =7 7 Fise
60. 0 0 60. 0] 7.00] 2.90 [
HHE LR o 7.00 2.90] 0.75 0.0 0.0 252. 252.0] 13, 189. 0|7 =7 7 1 st
60. 5 0 60. 52| 7.00] 2.90 [
HHE I R o 7.00| 3.50] 1.50 98.0 0.0 0. 98.0| 13, 287. 0|7 =7 7 paisz
60. 7 52 60. 50 7.00 2. 50 {vh-nykv) (i)
HHE LR o 7.00| 3.50] 2.00[ 2. 50. 0 0.0 0. 50. 0| 13,337. 0|7 =7 v haiz
60.8 50 60. 0] 7.00] 6.00 2.
HHE I R o 7.00| 3.50] 2.00[ 2. 341.0 0.0 0. 341.0] 13, 678. 0|7 =27 7 1 Rt |7 L —5 & (-om)
60. 9 0 61. 50|  7.00] 6.00 2.
HHE LR o 7.00| 3.50] 2.00[ 2. 280. 0 0.0 0. 280. 0] 13, 958. O taniss (i)
61.2 50 61. 30]  7.00] 4.00 2.
HHE LR o 7.00| 3.50] 2.00[ 2. 180. 0 0.0 0. 180. 0| 14, 138. O|skActtsmes (i)
61.5 30 61. 10f 700 4.00 2.
HHE LR o 7.00| 3.50] 2.00[ 2. 260. 0 0.0 0. 260. 0] 14, 398. O s tanss (i)
61.7 10 61. 70|  7.00] 4.00 2.
HHE LR o 7.00| 3.50] 2.00[ 2. 340. 0 0.0 0. 340. 0| 14, 738. 0|4ttt (45%) |7 1 —4k 100
61.9 70 62. 20| 7.00] 3.50 2. KPS OBt
HHE LR o 7.00| 3.50] 2.00[ 2. 333.0 0.0 0. 333. 0] 15, 071. O tanss (i)
62.3 20 62.6 53] 7.00] 3.50 2. KPS Uit
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BT UL ) T 7.00] 3.90] 0.60] 2.00 8.0 0.0] 25.0 33. 0| 15, 104. O|geAttangs (i) B 1A
62.6 53 ~ 62.6 86| 7.00] 3.90 2. 00

HHE LR o 7.00| 3.50] 2.00] 2.00] 214.0 0.0 0.0 214. 0] 15, 318. O tanss (i)
62.6 86 ~ 62.9 0] 7.00] 3.50 2. 00

HHE LR o 7.00 3.50] 1.00] 2.00] 380.0 0.0 0.0 380. 0] 15, 698. O tanss (i)
62.9 0 ~ 63.2 80| 7.00] 3.50 2.00

HHE LR o 7.00| 3.50] 4.00] 2.00] 280.0 0.0 0.0 280. 0] 15, 978. O tanss (i)
63.2 80 ~ 63.5 60| 7.00] 3.50 2. 00

HHE LR o 7.00| 3.50] 2.00] 2.00] 280.0 0.0 0.0 280. 0] 16, 258. O tanss (i)
63.5 60 ~ 63.8 40| 7.00] 3.50 2. 00

HHE LR o 7.00 2.70] 2.00] 2.00] 140.0 0.0 0.0 140. 0| 16, 398. 0| shActtshes (i)
63.8 40 ~ 63.9 80| 7.00] 3.50 2. 00

HHE L R o 7.00 2.70] 2.00] 2.00] 125.0 0.0 0.0 125. 0] 16, 523. O sk (i) |71 —tt 13
63.9 80 ~ 64.0 92| 7.00] 3.50 2. 00

BB R T 7.00 2.70f 2.00] 2.00 0.0 0.0 75.0 75. 0| 16, 598. 0| g kbt s (hin) | 5% 446
64.0 92 ~ 64.1  67] 7.00] 2.70 2. 00

HHE LR o 7.00 2.70] 2.00] 2.00] 230.0 0.0 0.0 230. 0] 16, 828. O taniss (i)
64.1 67 ~ 64.3 971 7.00] 2.70 2. 00

HHE L R o 7.00 2.69] 2.00] 2.00 0.0 0.0 20.0 20. 0| 16, 848. O|#kais (st | F A ES AT
64.3 97 ~ 64.4 17| 7.00] 2.69 2. 00

HHE LR o 7.00 2.70] 2.00] 2.00] 303.0 0.0 0.0 303. 0] 17, 151. Ot tanss (i)
64.4 17 ~ 64.7 20| 7.00] 2.70 2. 00

HHE I R o 7.00| 2.50] 2.00] 2.00] 330.0 0.0 0.0 330. 0| 17, 481. 0|4ttt (4532) | 1—sk (50m)
64.7 20 ~ 65. 1 0] 7.00] 3.00 2. 00

HHE LR o 7.00 2.50] 2.00] 2.00] 300.0 0.0 0.0 300. 0] 17, 781. O tanss (i)
65. 1 0 ~ 65. 4 0] 7.00] 3.00 2. 00

HHE L R o 7.00 2.50] 2.00] 2.00] 253.0 0.0 0.0 253. 0] 18, 034. Ot tanss (i)
65. 4 0 ~ 65.6 53] 7.00] 3.00 2. 00

HHE LR o 7.00 3.00f 2.00] 2.00 1.0 0.0 8.0 89. 0| 18, 123. O|#ektans (iit) | F i 2245
65.6 53 ~ 65.7 42| 7.00] 3.00 2. 00

HHE L R o 7.00 2.50] 2.00] 2.00] 850 0.0 0.0 85. 0] 18, 208. Ot teanss (i)
65.7 42 ~ 65.8 27 7.00] 3.00 2. 50

SBR[ T 7.00]  3.00 1.oof 200 0.0 0.0 11.0 11. 0] 18, 219. Ofghctesnis dum) | A B R IE G
65.8 27 ~ 65.8 38| 7.00] 3.80 2.00

HHE LR o 7.00 3.50] 2.00] 2.00] 83.0 0.0 0.0 83. 0] 18, 302. O#ectanss (i)
65.8 38 ~ 65.9 21| 7.00] 3.50 2. 00

BRI R T 7.00] 3.50] 2.00] 2.00] 268.0 0.0 0.0 268. 0| 18, 570. 0| gt (i) |71 —= & (s
65.9 21 ~ 66.1 41| 7.00] 3.50 2. 00

HHE LR o 7.00| 3.50] 2.00] 2.00] 284.0 0.0 0.0 284. 0] 18, 854. O taniss (i)
66.1 41 ~ 66.4 25| 7.00] 3.50 2. 00

HHE I R o 7.00| 3.50] 4.00] 2.00] 267.0 0.0 0.0 267. 0] 19, 121. O teanss (i)
66.4 25 ~ 66.6 92| 7.00] 3.50 2. 00

HHE LR o 7.00| 3.50] 4.00] 2.00] 262.0 0.0 0.0 262. 0] 19, 383. O tanss (i)
66.6 92 ~ 66.9 54| 7.00] 3.50 2. 00

BRI R T 7.00] 3.50] 4.00] 2.00] 279.0 0.0 0.0 279. 0] 19, 662. 0| g ttiis (i) |7 v— it (2m
66.9 54 ~ 67.2 31| 7.00] 3.50 2. 00

HHE LR o 7.00| 3.50] 2.00] 2.00] 241.0 0.0 0.0 241. 0] 19, 903. O tanss (i)
67.2 31 ~ 67.4 72| 7.00] 3.50 2.00

HHE LR o 7.00| 3.50] 2.00] 2.00] 360.0 0.0 0.0 360. 0] 20, 263. O |#eA tanss (i)
67.4 72 ~ 67.8 32| 7.00] 3.50 2. 00

BRI R T 7.00] 3.50] 2.00] 2.00] 201.0 0.0 0.0 201. 0] 20, 464. 0| g ttahis (di) |7 v— 1w
67.8 32 ~ 68.0 34| 7.00] 3.50 2. 00
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B R il T 7.00 3.90 1.00 2. 00 0.0 0.0 19.0 19. 0] 20, 483. O|gektahas G |48) 1146
68. 0 34 ~ 68. 0 53 7. 00 3. 90 2. 00
B R il T 7.00 3.50 2.00 2.00] 204.0 0.0 0.0 204. 0] 20, 687. Ok i:sh (i)
68. 0 53 ~ 68. 2 57 7. 00 3. 50 2. 00
B R il T 7.00 3.50 2.00 2.00| 127.0 0.0 0.0 127. 0 20, 814. Ot afs (i)
68. 2 57 ~ 68. 3 84 7. 00 0. 00 2. 00
B R il T 7.00 4.35 2.00 2. 00 0.0 0.0] 21.0 21. 0| 20, 835. 0| gkianis (it |'Er A B TEAG
68. 3 84 ~ 68. 4 5 7.00 3. 50 2. 00
B R il T 7.00 3.50 2.00 2.00| 247.0 0.0 0.0 247. 0] 21, 082. O| gkt (i)
68. 4 5 ~ 68. 6 52 7.00 3. 50 1. 50
B R il T 3.50 3.50 2.00 2.00] 143.0 0.0 0.0 143. 0] 21, 225. O |#ec:as (i)
68. 6 52 ~ 68. 7 95 7.00 3. 50 1. 50
B R il T 3.50 3.50 0. 00 1.50 20.0 0.0 0.0 20. 0 21, 245. O|#ek vk (i)
68. 7 95 ~ 68. 8 15 7.00 3. 50 2. 00
B R i T 3.50 3.50)  0.00 1.50| 164.0 0.0 0.0 164. 0 21, 409. O|#eAtk a4 (i)
68. 8 15 ~ 68. 9 79 3. 50 3. 50 1. 50
B R i T 3.50 2.40(  0.00 1.10 0.0 0.0] 40.0 40. 0| 21, 449. 0|7 27 7 1 183 |7 L — & Gom)
68. 9 79 ~ 69. 0 17 3. 50 0. 00 1. 00 EENi
B R il T 3.50 2.00[  0.00 2.00| 87.0 0.0 0.0 87. 0] 21, 536. 0|7 =7 7 v kit
69. 0 17 ~ 69. 1 4 3. 50 0. 00 2. 00
B R il T 3.50 2.20(  0.00 1. 00 0.0 0.0] 29.0 29. 0] 21, 565. 0|7 =7 7 v ks |BLEAE
69. 1 4 ~ 69. 1 33 3. 50 0. 00 1. 20
B R i T 3.50 1.80]  0.00 1.30] 132.0 0.0 0.0 132. 0| 21, 697. 0|7 27 » 1 kit
69. 1 33 ~ 69. 2 65 3. 50 0. 00 1. 50
B R i T 3.50 1.80]  0.00 1.50] 120.0 0.0 0.0 120. 0| 21, 817. 0|7 27 » 1 kit
69. 2 65 ~ 69. 3 85 3. 50 0. 00 2. 00
B R il T 3.50 1.80]  0.00 1.50| 305.0 0.0 0.0 305. 0] 22, 122. 0| gt (i)
69. 3 85 ~ 69. 6 90 3. 50 0. 00 2. 00
B R il T 3.50 0. 00 0. 00 3.90] 150.0 0.0 0.0 150. 0 22, 272. O |#eAt: Al (i)
69. 6 90 ~ 69. 8 40 3. 50 3. 00 0. 80
B R il T 3.50 0. 00 0. 00 2.00] 136.0 0.0 0.0 136. 0 22, 408. O|#eAt: Al (i)
69. 8 40 ~ 69. 9 76 3. 50 1. 90 2. 00
B R i T 3.50 0. 00 0. 00 1.25 0.0 0.0 9.0 9. 0] 22, 417. 0|9kt Gion) [THEAE
69. 9 76 ~ 69. 9 85 3. 50 1. 90 1.25
B R i T 3.50 0. 00 0. 00 2.00] 155.0 0.0 0.0 155. 0 22, 572. 0|#eAt: Al (i)
69. 9 85 ~ 70. 1 40 3. 50 1. 90 2. 00
B R il T 3.50 0. 00 0. 00 1.90| 310.0 0.0 0.0 310. 0] 22, 882. 0|k taas (i)
70.1 40 ~ 70.4 50|  3.50 1.90 4. 20
B R il T 3.50 0. 00 0. 00 2.60] 318.0 0.0 0.0 318. 0] 23, 200. Okt sh (i)
70. 4 50 ~ 70.7 68 3. 50 1. 90 2. 65
B R i T 3.50 2.50 0. 00 3.25 0.0 0.0 30. 0 30. 0 23, 230. O|#eActeans Gion) | S
70.7 68 ~ 70.7 98 3. 50 2. 50 3.25
B R i T 3.50 1. 40 0. 00 2.00] 202.0 0.0 0.0 202. 0] 23, 432. Okt sh (i)
70.7 98 ~ 71.0 0 3. 50 1. 50 4. 20
B R il T 3.50 1. 40 0. 00 3.90] 270.0 0.0 0.0 270. 0] 23, 702. Okt sh (i)
71.0 0 ~ 71.2 70 3. 50 0. 00 1. 80
B R il T 3.50 1. 40 0. 00 3.75| 165.0 0.0 0.0 165. 0| 23, 867. 0|kt afiss (i)
71.2 70 ~ 71.4 35 3. 50 0. 00 2. 00
B R il T 3.50 1.50f  0.00 4.05] 106.0 0.0 0.0 106. 0| 23, 973. O|#eAci: Al (i)
71.4 35 ~ 71.5 41 3. 50 4. 00 2. 00
B R i T 3.50 2.50 0. 00 4.00 0.0 0.0 29.0 29. 0] 24, 002. Ok tiaiis i) | HriEAE
71.5 41 ~ 71.5 70 3. 50 2. 50 4. 00
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BT UL ) T 3.50] 1.50] 0.00] 4.00] 120.0 0.0 0.0 120. 0| 24, 122. 0| shAcrtsmes i)
1.5 70 ~ 71,6 90|  3.50] 4.00 2. 00

BB R T 3.50 1.40] 0.00] 3.95| 308.0 0.0 0.0 308. 0] 24, 430. 0| gkt (dit) |7 v— i (-2m
71.6 90 ~ 72.0 0] 3.50] 3.28 4. 15

BT UL ) T 7.00] 1.40] 0.00] 1.15] 135.0 0.0 0.0 135. 0| 24, 565. 0| skt (i)
72.0 0 ~ 72.1 35| 3.50] 3.00 5. 40

BT LR ) T 3.50] 2.00] 0.00] 1.50] 200.0 0.0 0.0 200. 0] 24, 765. O g tanss (i)
72.1 35 ~ 72.3 35|  3.50] 2.67 1. 50

BT UL ) T 3.50] 2.00] 0.00] 1.50] 158.0 0.0 0.0 158. 0| 24, 923. 0| shAcrtsmes (i)
72.3 35 ~ 72.4 93]  3.50]  3.50 1. 50

SBR[ T 3.50] 2.00] 0.00] 1.50] 36.0 0.0 0.0 36. 0| 24, 959. O|Hekt 4z Gt
72.4 93 ~ 72.5 29| 3.50]  2.00 1. 50

BB R T 3.50] 2.50] 0.00 1.50 0.0 0.0]  20.0 20. 0| 24, 979. 0|7 =7 7 1 1t | LA
72.5 29 ~ 72.5 49|  3.50]  2.50 1. 50

BT UL ) T 3.50] 2.00] 0.00] 1.50] 386.0 0.0 0.0 386. 0| 25, 365. 0|7 =7 7 1 it
72.5 49 ~ 72.9 35| 3.50]  2.00 1. 50

BT UL ) T 3.50] 2.00] 0.00] 1.25| 253.0 0.0 0.0 253.0] 25, 618. 0|7 =7 7 1 Rt |7 L —5 & (s5m)
72.9 35 ~ 73.1 83  3.50] 2.00 1. 25

BB R T 3.50] 2.30] 0.00 1.50 0.0 0.0] 33.0 33.0] 25,651. 07 =7 7 rs | KFIAE
73.1 83 ~ 73.2 16| 3.50]  0.00 1. 50

SBR[ T 3.50] 2.00] 0.00] 1.25| 224.0 0.0 0.0 224.0| 25, 875. 0|7 =27 7 1 1t
73.2 16 ~ 73.4 40|  3.50]  0.00 2. 00

BB R ) T 3.50] 2.00] 0.00 1.25| 275.0 0.0] 30.0 305. 0 26, 180. 0|7 =7 7 1 raist | KHHEHG
73.4 40 ~ 73.7 45| 3.50]  0.00 2. 00

SBR[ T 3.50] 2.00] 0.00] 1.50] 181.0 0.0 0.0 181. 0| 26, 361. 0|7 %7 7 1 143z
73.7 45 ~ 73.9 26| 3.50] 2.00 1. 50

BB R T 3.50] 2.00] 0.00 1.50] 242.0 0.0 0.0 242. 0| 26, 603. 0|7 27 7 1 st |- mCumm
73.9 26 ~ 74.0 51| 3.50]  2.00 1. 50

BT YRR ) T 3.50] 0.00] 0.00] 1.50] 330.0 0.0 0.0 330. 0| 26, 933. 0|7 =7 7 1 Fisz
74.0 51 ~ 74.3 81| 3.50] 2.00 1. 50

BT UL ) T 3.50] 2.00] 0.00] 1.50] 300.0 0.0 0.0 300. 0] 27, 233. 0|7 =7 7 1 Fise
74.3 81 ~ 746 81| 3.50] 2.00 1. 50

SBR[ T 3.50] 2.00] 0.00] 1.50] 164.0 0.0 0.0 164. 0| 27, 397. 0|7 %7 7 1 143
74.6 81 ~ 74.8 45| 3.50]  2.00 1. 50

BB R ) T 3.50| 0.00] 0.00] 2.00 0.0 0.0] 35.0 35. 0| 27, 432. 0|7 27 7 1 rats | 55 = ATAR
74.8 45 ~ 74.8 80| 3.50] 0.00 2. 00

BT UL ) T 3.50] 0.00] 0.00] 2.00] 87.0 0.0 0.0 87.0| 27,519. 0|7 =27 7 paisz
74.8 80 ~ 74.9 67 3.50]  2.00 2. 00

BT UL ) T 3.50] 0.00] 0.00] 2.00 0.0 0.0f 210 21. 0| 27, 540. 0|7 =7 7 1 ratist | 55— HAHG
74.9 67 ~ 749 88]  3.50] 2.00 2. 00

BT UL ) T 3.50] 0.00] 0.00] 2.00] 184.0 0.0 0.0 184. 0] 27, 724. 0|7 %7 7 1 1 s |7 2 e Cosom)
74.9 88 ~ 75.0 87 3.50] 1.50 2. 00

BB R i) T 3.50| 0.00] 0.00] 2.00 0.0 0.0 18.0 18. 0| 27, 742. 0|7 27 7 v s | KA
75.0 87 ~ 75. 1 5] 3.50]  2.00 2. 00

BT LR ) T 3.50] 2.00] 0.00] 2.00] 750 0.0 0.0 75.0| 27, 817. 0|7 =7 » v 1sie
75. 1 5 ~ 75.1 80| 3.50] 2.00 2. 50

BT UL ) T 3.50] 2.00] 0.00] 2.00| 340.0 0.0 0.0 340.0] 28, 157. 0|7 =7 7 Fise
75.1 80 ~ 75.5 20| 3.50] 2.00 2. 50

BT R ) T 3.50] 2.00] 0.00] 1.00] 182.0 0.0 0.0 182. 0| 28, 339. 0|7 %7 7 1 143
75.5 20 ~ 75.7 2] 3.50]  3.00 1. 50

BRI R T 3.50 1.10]  0.00 1.25 0.0 0.0 7.0 7.0] 28, 346. 0|7 =7 7 1 Rt [0 — % oo
75.7 2 ~ 76.0 0] 3.50] 0.00 1. 25 i

&EF 25,559.0 0.0 2,787.0 0.0 28,346.0

T EEICIE, BB EASE N REE OME R OB b B RIHA TR T D2,
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U R B A X A 3.50 1.10]  0.00 1.25 19.0 0.0 7.0 26.0 26.07 =77 n bags | 7 L—F &
76.0 0 ~ 76.8 26| 3.50]  0.00 1. 25 ()800m,_HSH16
U SR B A X A 3.50 1.50]  0.00 1.50]  55.0 0.0 0.0 55.0 8L.0r =77 nbig | 7 L —F &
76.8 26 ~ 76.9 0] 3.50] 0.00 1.75 (=) 19m
SIS JRX S R S 3.50] 1.50] 0.00] 2.00| 300.0 0.0 0.0 300. 0 381. 0|7 %7 7 1 1awaz
76.9 0 ~ 77.2 0] 3.50] 0.00 2. 00
SIS JR S R S 3.50] 1.50] 0.00] 2.50] 550.0 0.0 0.0 550. 0 931. 0|7 %7 7 v ik
77.2 0 ~ 77.7 50| 3.50]  0.00 2. 50
U R B A X A 3.50] 0.00] 0.00] 2.00] 251.0 0.0 0.0 251.0| 1,182.0|7 277 riitt | 7 L —F &
77.7 50 ~ 78.0 0] 3.50 1. 50 1.50 (+) 1m
SIS UR S R S 3.50] 0.00] 0.00] 2.10] 226.0 0.0 0.0 226.0| 1,408.0|7 =77 Fis
78.0 0 ~ 78.2 26| 3.50] 1.50 2. 50
IR R AR T Hill L= 2, 456n
U R B A X A 3.50| 0.00] 0.00] 2.00] 299.0 0.0 0.0 299.0| 1,707.0|7 277 riis | 7 L —F &
80.8 43 ~ 81.1 20 3.50] 0.00 2. 00 () 22m
SIS JRX S R S 3.50] 2.50] 0.00] 2.00] 130.0 0.0 0.0 130.0] 1,837.0|7 %771 1aia
8l.1 20 ~ 81.2 50| 3.50] 0.00 2. 50
SIS JR S R S 3.50] 2.50] 0.00] 2.00] 158.0 0.0 0.0 158.0] 1,995. 0|7 %77 1 1si3
81.2 50 ~ 81.4 8] 3.50] 0.00 2. 50
SIS UR S R S 3.50| 1.50] 0.00] 0.50 0.0] 444.0 0.0 444.0| 2,439.0f=> 7 v — Fiss
81.4 8 ~ 81.8 52| 3.50] 0.00 0. 50
SIS JR S R 3.50| 150 0.00] 0.75] 22.0 0.0 0.0 22.0| 2,461.0[=> 7 v — pass
81.8 52 ~ 81.8 74| 3.50] 0.00 1. 25
SIS JRX S R S 3.50] 1.50] 0.00] 0.75 0.0 0.0 99.0 99.0| 2,560. 0|7 27 n Lo | FRH K
81.8 T4 ~ 81.9 73] 3.50] 0.00 1. 25
SIS UR X S R S 3.50] 2.00] 0.00] 2.00| 186.6 0.0 0.4 187.0| 2, 747.0|7 %77 1 ransz | 0
8.9 73 ~ 82.1 60| 3.50] 2.50 2. 00
SIS JR S R S 3.50] 2.00] 0.00] 2.00] 70.0 0.0 0.0 70.0| 2,817.0|7 277 iz
82.1 60 ~ 82.2 30| 3.50] 0.00 2. 00
&3 2,266.6 | 444.0 106.4 0.0 2,817.0

T B, BB EAE AR OMIE R OE B LR H A TR 028,
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HTE S AR T 3.50| 0.00] 0.00] 1.50| 364.0 0.0 0.0 364. 364. 0|7 %7 7 1 1awaz
78.2 26 ~ 78.5 90| 3.50] 1.50 1. 50
HTE S AR T 3.50| 0.00f 0.00] 1.50] 160.0 0.0 0.0 160. 524, 0|7 =7 7 1 1awaz
78.5 90 ~ 78.7 50| 3.50] 1.50 1. 50
BRI T 3.50] 0.00] 0.00 1.50] 152.0 0.0 0.0 152. 676. 0|7 27 71 M | 7 L —F
78.7 50 ~ 79.0 40|  3.50] 1.50 1. 50 () 138m
HTE S AR T 3.50| 0.00f 0.00] 1.50] 210.0 0.0 0.0 210. 886. 0|7 %7 7 v 1k
79.0 40 ~ 79.2 50| 3.50] 2.00 1. 50
HTE S AR T 3.50| 0.00] 0.00] 2.00] 415.0 0.0 0.0 415.0] 1,301. 0|7 =77 rise
79.2 50 ~ 79.6 65| 3.50]  2.00 1. 50
BB R HAIR 3.50| 0.00] 0.00] 3.95 0.0 0.0 4.0 4. 1, 305. 0|7 =7 7 v s | TEAE
79.6 65 ~ 79.6 _ 69]  3.50] 2.50 1.75
HTE S AR T 3.50| 0.00] 0.00] 3.50] 141.0 0.0 0.0 141.0] 1,446.0|7 %77 1 1413
79.6 69 ~ 79.8 10| 3.50]  2.00 2. 00
BB R HA R 3.50] 0.00] 0.00 1.75 0.0 0.0 5.0 5. 1,451 0|7 =7 7 v b |1 EAE
79.8 10 ~ 79.8 15| 3.50] 2.50 1.75
HTE S AR T 3.50| 0.00f 0.00] 1.50] 162.0 0.0 0.0 162.0] 1,613.0|7 %771 rawe |7 L—F &
79.8 15 ~ 80. 0 0] 3.50] 2.00 1.50 ()23m
HTE S AR T 3.50| 0.00] 0.00] 1.50] 250.0 0.0 0.0 250.0] 1,863. 0|7 =77 rs
80. 0 0 ~ 80.2 50| 3.50] 2.00 1. 50
HTE S AR T 3.50| 0.00f 0.00] 1.50] 64.0 0.0 0.0 64.0| 1,927.0|7 =771 ps
80.2 50 ~ 80.3 14| 3.50]  0.00 1. 50
HTE S AR T 3.50] 0.00] 0.00 1. 50 0.0 0.0 4.0 4. 1,93L. 0|7 =7 7 v b | FLIERE
80.3 14 ~ 80.3 18] 3.50]  0.00 1. 50
HTE S AR T 3.50| 0.00f 0.00] 2.00] 132.0 0.0 0.0 132.0] 2,063.0|7 %771 1ai3
80.3 18 ~ 80.4 50| 3.50] 0.00 2. 00
HTE S AR T 3.50| 0.00f 0.00] 2.00] 300.0 0.0 0.0 300.0] 2,363.0|7 =77 rgs
80.4 50 ~ 80.7 50| 3.50] 0.00 2. 00
HTE S AR T 3.50| 0.00f 0.00] 2.00] 930 0.0 0.0 93.0| 2,456.0[7 =771 ras
80.7 50 ~ 80.8 43| 3.50] 0.00 2. 00
SIS UK S 1O A) 21 A L= 1, 409m
HTE S AR T 3.50| 2.00] 0.00] 2.00] 67.0 0.0 0.0 67.0| 2,523.0|7 =77 n rans
82.2 30 ~ 82.2 971 3.50] 0.00 2. 50
B AR T 3.50] 2.00] 0.00] 2.00 0.0 0.0 62.0 62.0| 2,585.0|7 2771 rattk | 154G
82.2 97 ~ 82.3 59| 3.50] 0.00 1.25
HTE S AR T 3.50| 2.00] 0.00] 2.00] 280 0.0 0.0 28.0| 2,613.0[7 =771 pas
82.3 59 ~ 82.3 87| 3.50] 0.00 1.25
B LA T 3.50] 2.00] 0.00] 2.00 0.0 0.0 62.0 62.0| 2,675.0|7 277 ratisk | 2 B4G
82.3 87 ~ 82.4 49| 3.50] 0.00 1.25
HTE S AR T 3.50| 2.00] 0.00] 2.00] 42.0 0.0 0.0 42,0 2,717. 0|7 =7 7 pasz
82.4 49 ~ 82.4 91| 3.50] 0.00 1.25
HTE S AR T 3.50] 2.00] 0.00] 2.00 0.0 0.0 83.0 83.0| 2,800.0|7 277 ratsk | Hh 354G
82.4 91 ~ 82.5 74| 3.50] 0.00 1.25
HTE S AR T 3.50| 2.00] 0.00] 2.00] 980 0.0 0.0 98.0| 2,898.0[7 =77 n rai
82.5 T4 ~ 82.6 72| 3.50]  0.00 1.25
HTE S AR T 3.50] 2.00] 0.00] 2.00 0.0 0.0[ 103.0 103.0] 3,001, 0|7 =771 1awse | 4 He 4 B4
82.6 72 ~ 82.7 75| 3.75]  0.00 1.25
HTE S AR T 3.50| 2.00] 0.00] 2.00] 17.0 0.0 0.0 17.0] 3,018. 0|7 =771 rawa
82.7 75 ~ 82.7 92| 3.75]  0.00 1. 25
HTE S AR T 3.50] 2.00] 0.00] 2.00 0.0 0.0 145.0 145.0] 3,163. 0|7 %771 1awse | 4 He 5 46
82.7 92 ~ 82.9 37| 3.75]  0.00 1.25
BRI T 3.50] 2.00] 0.00] 2.50] 140.0 0.0 0.0 140. 3,303. 0|7 27> rapis | 7 L—F &
82.9 37 ~ 83.0 86| 3.50] 0.00 1. 50 () 9m
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HTE S AR T 3.50] 2.00] 0.00] 2.00] 164.0 0.0 0.0 164.0| 3,467.0|7 %771 1si3
83.0 86 ~ 83.2 50| 3.50] 2.50 2. 50
HTE S AR T 3.50] 2.00] 0.00] 2.00] 197.0 0.0 0.0 197.0] 3,664. 0|7 %771 1si3
83.2 50 ~ 83.4 47| 3.50] 2.50 2.00
HTE S AR T 3.50] 2.00] 0.00] 2.00] 208.0 0.0 0.0 208.0| 3,872.0|7 =771 ris
83.4 47 ~ 83.6 55| 3.50] 2.50 2. 00
HTE S AR T 3.50] 2.00] 0.00] 2.00] 950 0.0 0.0 95.0] 3,967.0|7 =771 rs
83.6 55 ~ 83.7 50| 3.50] 2.50 2. 00
HTE S AR T 3.50] 2.00] 0.00] 2.00] 198.0 0.0 0.0 198.0] 4,165.0|7 %771 raw |7 L—F &
83.7 50 ~ 84.0 10]  3.50] 2.50 2. 00 (-)62m
HTE S AR T 3.50] 2.50] 0.00] 1.50] 240.0 0.0 0.0 240.0| 4, 405. 0|7 =7 7 Fgis
84.0 10 ~ 84.2 50| 3.50] 2.00 4.50
HTE S AR T 3.50] 2.50] 0.00] o0.50] 270.0 0.0 0.0 270.0| 4, 675.0|7 =77 Fgise
84.2 50 ~ 84.5 20| 3.50] 1.40 1. 00
BB R HA R 3.50] 2.50] 0.00 1. 00 0.0 0.0 5.0 5.0 4,680. 0|7 %77 rais |5 HIAE
84.5 20 ~ 84.5 25| 3.50] 0.00 1. 00
B LA T 3.50| 2.70] 0.00] 1.00] 145.0 0.0 0.0 145.0] 4,825.0|=>7 v — 14
84.5 25 ~ 84.6__ 70| 3.50] 0.00 1. 00
HHE LA T 3.50| 2.70] 0.00] 1.20] 80.0 0.0 0.0 80.0| 4,905.0f=> 2 v— raiis
84.6 70 ~ 84.7 50| 3.50] 0.00 1. 50
HHE LA T 3.50| 2.70] 0.00] 1.25| 254.0 0.0 0.0 254.0| 5,159.0f=> 7 v— pais | 7 L —F &
84.7 50 ~ 85. 0 0] 3.50] 0.00 1.75 (+) 4m
HHE AR T 3.50| 2.70] 0.00] 1.55| 250.0 0.0 0.0 250.0] 5,409. 0f=> 2 v— s
85. 0 0 ~ 85.2 50| 3.50] 0.00 1.15
HTE S AR T 3.50] 2.70] 0.00] 1.25| 350.0 0.0 0.0 350.0| 5,759. 0|7 =77 ris
85.2 50 ~ 85. 6 0] 3.50] 0.00 2. 00
HTE S AR T 3.50] 0.00] 0.00] 1.00] 150.0 0.0 0.0 150. 0] 5,909. 0|7 %7 7 1 1 s#3
85. 6 0 ~ 85.7 50| 3.50] 3.00 1. 00
HTE S AR T 3.50] 0.00] 0.00] 1.00] 196.0 0.0 0.0 196.0| 6,105. 0|7 %771 1si3
85.7 50 ~ 85.9 46| 3.50]  3.00 1. 00
BB R HAIR 3.50 0. 00 0. 00 0. 60 0.0 0.0 4.0 4.0] 6,109 0| HE/KMER 2L 46
85.9 46 ~ 85.9 50| 3.50] 3.00 0. 60
IR R AR T 3.50 0. 00 0. 00 0.75| 303.0 0.0 0.0 303.0] 6,412. O|HE/kiEdhizE |7 L —F &
85.9 50 ~ 86.2 50| 3.50] 3.00 0.75 () 3m
BB R T 3.50 0. 00 0. 00 0.75| 250.0 0.0 0.0 250. 0] 6, 662. 0| HEAKPERHLE
86.2 50 ~ 86. 5 0] 3.50] 3.00 0.75
BB R HAIR 3.50 0. 00 0. 00 1.00| 111.0 0.0 0.0 111.0] 6, 773. O| /K 2k
86. 5 0 ~ 86.6 11| 3.50]  3.00 1. 00
HTE S AR T 3.50] 0.00] 0.00] 1.00 0.0 0.0 40.0 40.0| 6,813.0]7 =77 raiz | TG
86.6 11 ~ 86.6 51| 3.50] 3.40 1. 00
BB R HAIR 3.50 0. 00 0. 00 1.00 99.0 0.0 0.0 99.0[ 6, 912. 0| /KM Eh%E
86.6 51 ~ 86.7 50| 3.50] 0.00 1. 00
IR R AR T 3.50 0. 00 0. 00 1.35] 353.0 0.0 0.0 353.0| 7,265. 0|HEkMEAE:E |7 L —F &
86.7 50 ~ 87.1 0] 3.50] 3.00 1.75 (+) 3m
BB R HAIR 3.50 0. 00 0. 00 1.50] 150.0 0.0 0.0 150. 0] 7, 415. O| /K 2k
87. 1 0 ~ 87.2 50| 3.50] 3.00 2. 00
BB R HAIR 3.50 0. 00 0. 00 1.50] 150.0 0.0 0.0 150. 0] 7,565. 0|/ &2k
87.2 50 ~ 87.4 0] 3.50] 2.80 2. 00
HTE S AR T 3.50] 1.80] 0.00] 1.50] 303.0 0.0 0.0 303.0| 7,868.0|7 =77 pas
87.4 0 ~ 87.7 3] 3.50]  2.00 1. 50
HTE S AR T 3.50] 3.00] 0.00] 1.50] 47.0 0.0 0.0 47.0) 7,915.0)7 =27 7 paisz
87.7 3 ~ 87.7 50| 3.50] 2.00 1. 50
BRI T 3.50] 3.00] 0.00 1.50] 276.0 0.0 0.0 276.0| 8, 1910|7277 riit |7 L —F &
87.7 50 ~ 88. 0 0] 3.50] 2.00 1. 50 (+) 26m
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HTE S AR T 3.50| 3.00] 0.00] 1.50] 250.0 0.0 0.0 250.0| 8, 441. 0|7 =77 pise
88.0 0 ~ 88.2 50| 3.50] 2.50 1. 50
HTE S AR T 3.50| 3.00] 0.00] 1.50] 353.0 0.0 0.0 353.0| 8,794.0|7 =77 rgi
88.2 50 ~ 88. 6 3] 3.50]  2.50 1. 50
HTE S AR T 3.50| 3.00] 0.00] 1.50 0.0 0.0 151.0 151.0] 8,945. 0|7 %7 7 1 Kot |8 G
88.6 3 ~ 88.7 54| 3.50] 0.00 1. 50
HTE S AR T 3.50| 0.00f 0.00] 1.25] 210 0.0 0.0 21.0| 8,966.0[7 =77 ras
88.7 54 ~ 88.7 75| 3.50]  0.00 1.25
HTE S AR T 3.50| 3.00] 0.00] 1.50] 55.0 0.0 0.0 55.0| 9,021. 0|7 =77 nahiz
88.7 15 ~ 88.8 30| 3.50] 0.00 1. 50
BRI T 3.50] 3.00] 0.00 1.50] 202.0 0.0 0.0 202.0| 9,223.0|7 277 riis |7 L—F &
88.8 30 ~ 89.0 60| 3.50] 0.00 1.50 (-)28m
HTE S AR T 3.50| 3.00] 0.00] 1.50] 180.0 0.0 0.0 180.0| 9,403.0|7 %771 1si3
89.0 60 ~ 89.2 40| 3.50] 0.00 2. 00
HTE S AR T 3.50| 3.00f 0.00] 1.00] 190.0 0.0 0.0 190.0| 9,593. 0|7 %77 1 1s#3z
89.2 40 ~ 89.4 30| 3.50] 0.00 1. 00
HTE S AR T 3.50| 3.00] 0.00] 2.00] 320.0 0.0 0.0 320.0] 9,913.0|7 =77 pgs
89.4 30 ~ 89.7 50| 3.50] 0.00 1. 50
BRI T 3.50] 3.00] 0.00] 2.00] 296.0 0.0 9.0 305. 0 10, 218. 0|7 27 7 1 hiist | 7 L —F &
89.7 50 ~ 90.0  47] 3.50]  0.00 1. 50 ()80, A
HHE LA T 3.50| 3.00] 0.00] 2.00] 203.0 0.0 0.0 203. 0] 10, 421. O tanss (i)
90.0 47 ~ 90.2 50| 3.50] 0.00 1. 50
HHE AR T 3.50| 3.00] 0.00] 2.00] 377.0 0.0 0.0 377. 0] 10, 798. O tanss (i)
90.2 50 ~ 90.6 27| 3.50]  0.00 1. 50 FK LS Uit
B LA T 3.50| 3.00f 0.00] 1.50] 123.0 0.0 0.0 123. 0] 10, 921. O|skAcrtsmes i)
90.6 27 ~ 90.7 50| 3.50] 3.00 1. 50 KPS Ui
HHE LA T 3.50| 3.00] 0.00] 1.50] 161.0 0.0 0.0 161. 0| 11, 082. O|skActtsmes i)
90.7 50 ~ 90.9 11| 3.50]  3.00 1. 50 FK PSS Ui
B AR T 3.50| 2.50] 0.00] 0.50] 339.0 0.0 0.0 339. 0] 11, 421. Ot tanss (i)
90.9 11 ~ 91.2 50| 3.50] 2.50 0. 50 KPS OBt
BB R HAIR 3.50 2.50 0. 00 1.00| 350.0 0.0 0.0 350. 0] 11, 771. O|HEAKPERHLE
91.2 50 ~ 91.6 0] 3.50] 2.50 1. 00
BB R HAIR T 3.50 2.50 0. 00 2.00 150.0 0.0 0.0 150. 0] 11, 921. O| /K &2k
91.6 0 ~ 91.7 50| 3.50] 2.50 2. 00
BB R T 3.50 2.50 0. 00 2.00 50. 0 0.0 0.0 50. 0] 11, 971. OfHE/K &2k
91.7 50 ~ 91.8 0] 3.50] 2.50 2. 00
IR R FAR T 3.50 2.50 0. 00 2.00 458.0 0.0 0.0 458.0] 12,429. O|HE/ktEdlizs |7 L —F &
91.8 0 ~ 92.2 50| 3.50] 2.50 2. 00 (+)8m
BB R HAIR 3.50 2.50 0. 00 2.00| 167.0 0.0 0.0 167. 0] 12, 596. 0| /K &2k
92.2 50 ~ 92.4 17| 3.50] 2.50 2. 00
B LA T 3.50| 2.80] 0.00] 2.00 0.0 0.0f 17.0 17.0f 12, 613. 0| Bk MElLE |15 BRR AT
92.4 17 ~ 92.4 34| 3.50] 2.80 2. 00 L fh AR
BB R 3.50 2.50 0. 00 2.00( 316.0 0.0 0.0 316. 0] 12, 929. O|HEAKPERHLE
92.4 34 ~ 92.7 50| 3.50] 2.50 2. 00
IR R AR T 3.50 2.50 0. 00 2.00 243.0 0.0 0.0 243.0] 13, 172. O|HE/ktedlizs |7 L —F &
92.7 50 ~ 93.0 0] 3.50] 2.50 2. 00 () m
BB R HAIR 3.50 2.00 0. 00 2.00 250.0 0.0 0.0 250. 0] 13, 422. O|HEAKPERHLE
93.0 0 ~ 93.2 50| 3.50] 2.50 2. 00
BB R T 3.50 1.90 0. 00 2.00 250.0 0.0 0.0 250. 0] 13, 672. O|HEAKPERHLE
93.2 50 ~ 93.5 0] 3.50] 2.50 2. 00
BB R HAIR T 3.50 1.90 0. 00 2.50 250.0 0.0 0.0 250. 0] 13, 922. O|HEAKPERHLE
93.5 0 ~ 93.7 50| 3.50] 2.50 2. 60
BB R HAIR 3.50 2.00 0. 00 2.00 150.0 0.0 0.0 150. 0] 14, 072. O| e/ &2k
93.7 50 ~ 93.9 0] 3.50] 3.00 2.00
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IR R AR T 3.50 2.20 0. 00 2.50 190.0 0.0 0.0 190. 0| 14, 262. O|BE/Ak eSS |7 L —F &
93.9 0 ~ 94.1 0] 3.50] 2.50 2.10 (-)10m
BB R 3.00 2.00 0. 00 0.50 143.0 0.0 0.0 143. 0] 14, 405. O| /K P2k
94. 1 0 ~ 94.2 43| 3.00] 2.50 0. 50
HTE S AR T 6.25] 2.90] 0.00 1.25 0.0 0.0] 64.0 64. 0] 14, 469. O|HEKIEAHLE  |48)114E
94.2 43 ~ 94. 3 71 3.25]  2.90 1.25
BB R HA IR 6.25 2.50 0. 00 1.25] 175.0 0.0 0.0 175. 0] 14, 644. O|HE/K &2k
94. 3 7~ 94.4 82| 3.25]  2.50 1.25
BB R HAIR 6.25 2.50 0. 00 1.25] 268.0 0.0 0.0 268. 0| 14, 912. O|HEAKPERHLE
94.4 82 ~ 94.7 50| 3.25]  3.10 1.25
BRI T 3.50] 3.00] 0.00] 2.00] 296.0 0.0 0.0 296. 0| 15, 208. 0|7 27 7 1 hiist | 7 L —F &
94.7 50 ~ 95.0 35| 3.50] 3.00 2. 00 (D) 11m
HTE S AR T 3.50] 3.00] 0.00] 2.00] 215.0 0.0 0.0 215.0] 15, 423. 0|7 =27 7 o 1t
95.0 35 ~ 95.2 50| 3.50] 2.00 2. 00
HTE S AR T 3.50] 3.00] 0.00] 2.00] 250.0 0.0 0.0 250. 0] 15, 673. 0|7 =7 7 1 1t
95.2 50 ~ 95. 5 0] 3.50] 2.00 1. 50
BB R T 3.50 3.00 0. 00 2.00 250.0 0.0 0.0 250. 0] 15, 923. O|HEAKPERHLE
95. 5 0 ~ 95.7 50| 3.50] 3.00 2. 00
BB R HA IR 3.50 0. 00 0. 00 1.50 92.0 0.0 0.0 92.0[ 16, 015. O /K M Edi%E
95.7 50 ~ 95.8 42| 3.50]  3.00 0. 50
IR R AR T 3.50 0. 00 0. 00 1.50] 209.0 0.0 0.0 209. 0] 16, 224. O|HEkMdlizsE |7 L —F &
95.8 42 ~ 96.0 42 3.50]  3.00 1.50 (+) 9m
BB R HAIR 3.50 0. 00 0. 00 1.20] 208.0 0.0 0.0 208. 0] 16, 432. O|HEAKPERHLE
96.0 42 ~ 96.2 50| 3.50] 3.00 1.15
HTE S AR T 3.50] 0.00] 0.00] 1.50] 90.0 0.0 0.0 90. 0] 16, 522. 0|7 =7 7 1 Faisz
96.2 50 ~ 96.3 40| 3.50]  3.00 1. 50
HTE S AR T 3.50] 0.00] 0.00] 1.00| 410.0 0.0 0.0 410. 0] 16, 932. 0|7 =7 7 1 Fise
96.3 40 ~ 96.7 50| 3.50]  3.00 1. 00
HTE S AR T 3.50] 0.00] 0.00] 1.25| 210.0 0.0 0.0 210.0] 17, 142. 0|7 =27 7 1 pise
96.7 50 ~ 96.9 60| 3.50] 3.00 1.25
HTE S AR T 3.50] 3.00] 0.00] o0.75| 288.0 0.0 0.0 288. 0] 17, 430. 0|7 =7 7 1 st
96.9 60 ~ 97.2 50| 3.50] 3.00 0. 80
BRI T 3.50] 3.00] 0.00] 0.75] 285.0 0.0 0.0 285. 0| 17, 715. 0|7 27 7 1 1t | 7 L —F &
97.2 50 ~ 97.5 35| 3.50]  3.00 0.75 () 2m
HTE S AR T 3.50] 3.00] 0.00] o0.50] 97.0 0.0 0.0 97.0| 17, 812. 0|7 =27 7 paisz
97.5 35 ~ 97.6 32| 3.50] 3.00 0. 50
HTE S AR T 3.50] 3.40] 0.00] 1.25 1.0 0.0f 210 22.0| 17, 834. 0|7 =7 » o vaise | A1) 1146
97.6 32 ~ 97.6 54| 3.50]  3.40 1.25
HTE S AR T 3.50] 3.00] 0.00] 2.00] 96.0 0.0 0.0 96.0] 17,930. 0|7 =7 7 1 paisz
97.6 54 ~ 97.7 50| 3.50] 3.00 2. 00
BRI T 3.50] 3.00] 0.00] 2.00] 396.0 0.0 0.0 396. 0| 18, 326. 0|7 27 7 1 riis | 7 L —F &
97.7 50 ~ 98.1 43| 3.50] 3.00 2. 00 (+)3m
HTE S AR T 3.50] 3.00] 0.00] 2.00] 107.0 0.0 0.0 107. 0| 18, 433. 0|7 %7 7 1 143
98.1 43 ~ 98.2 50| 3.50] 3.00 2. 00
HTE S AR T 3.50] 3.00] 0.00] 2.00] 248.0 0.0 0.0 248.0] 18, 681. 0|7 =7 7 1 st
98.2 50 ~ 98.4 98] 3.50] 3.00 2. 00
HTE S AR T 3.50] 3.00] 0.00] 2.00] 252.0 0.0 0.0 252.0] 18,933. 0|7 =27 7 1 pise
98.4 98 ~ 98.7 50| 3.50] 0.00 2. 00
BRI T 3.50] 3.00] 0.00] 2.00] 247.0 0.0 0.0 247. 0| 19, 180. 0|7 27 7 1 riist | 7 L —F &
98.7 50 ~ 99. 0 0] 3.50] 0.00 2. 00 (9)3m
HTE S AR T 3.50] 3.00] 0.00] 2.00] 250.0 0.0 0.0 250. 0] 19, 430. 0|7 =7 7 1 itz
99. 0 0 ~ 99.2 50| 3.50] 0.00 2. 00
HTE S AR T 3.50] 3.00] 0.00] 2.00] 126.0 0.0 0.0 126. 0| 19, 556. 07 %7 7 1 143
99.2 50 ~ 99.3 76| 3.50]  0.00 2.00
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HTE S AR T 3.50| 3.00] 0.00] 2.00] 374.0 0.0 0.0 374.0] 19, 930. 0|7 =7 7 1 st
99.3 76 ~ 99.7 50| 3.50]  3.00 2. 00
HTE S AR T 3.50| 3.00] 0.00] 2.00] 214.0 0.0 0.0 214.0] 20, 144. 0|7 =27 7 1 Fise
99.7 50 ~ 99.9 64| 3.50]  0.00 2.00
BRI T 3.50] 3.00] 0.00] 2.00] 285.0 0.0 0.0 285. 0| 20, 429. 0|7 27 7 1 1t | 7 L —F &
99.9 64 ~ 100.2 50| 3.50]  0.00 2. 00 (D 1m
HTE S AR T 3.50| 3.00] 0.00] 1.00] 68.0 0.0 0.0 68. 0] 20, 497. 0|7 =7 7 1 paisz
100.2 50 ~ 100.3 18] 3.50]  0.00 1. 00
HTE S AR T 3.25] 0.00] 0.00] 0.50 0.0 0.0 279.0 279. 0] 20, 776. 0|7 =7 7 1 Faise | K ILKHE
100.3 18 ~ 100.5 97| 3.25]  0.00 0. 50
HTE S AR T 3.50| 3.00] 0.00] 2.00] 153.0 0.0 0.0 153. 0] 20, 929. 0|7 %7 7 1 1413z
100.5 97 ~ 100.7 50| 3.50]  0.00 2. 00
BRI T 3.50] 3.00] 0.00] 2.00] 457.0 0.0 0.0 457.0| 21, 386. 0|7 27 7 1 hiist | 7 L —F &
100.7 50 ~ 101. 2 6] 3.50] 0.00 3. 00 (+) 1m
HTE S AR T 3.50| 3.00] 0.00] 1.50] 44.0 0.0 0.0 44,0 21, 430. 0|7 =7 7 1 paisz
101.2 6 ~ 101.2 50| 3.50] 0.00 3.00
HTE S AR T 3.50| 3.00] 0.00] 2.00] 225.0 0.0 0.0 225.0| 21, 655. 0|7 =7 7 1 it
10.2 50 ~ 101.4 75| 3.50]  0.00 2. 00
HTE S AR T 3.50| 3.00] 0.00] 1.75] 265.0 0.0 0.0 265. 0] 21, 920. 0|7 =7 7 1 sz
101.4 75 ~ 101.7 40|  3.50] 0.00 2. 00
BRI T 3.50] 3.00] 0.00 1.50] 255.0 0.0 0.0 255. 0| 22, 175. 0|7 27 7 1 1t | 7 L —F &
101.7 40 ~ 102.0  60]  3.50]  0.00 2. 00 (-)65m
HTE S AR T 3.50| 0.00f 0.00] 2.00] 60.0 0.0 0.0 60. 0] 22, 235. 0|7 =7 7 1 Faisz
102.0 60 ~ 102.1 20| 3.50] 0.00 1.75
HTE S AR T 3.50| 3.50] 0.00] 1.50] 118.0 0.0 0.0 118. 0| 22, 353. 0|7 %7 7 1 143
102.1 20 ~ 102.2  38]  3.50] 0.00 1.75
HTE S AR T 3.50| 0.00f 0.00] 2.00] 12.0 0.0 0.0 12. 0| 22, 365. 0|7 =7 7 1 1aw3z
102.2 38 ~ 102.2 50|  3.50]  0.00 1.75
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